
IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM



IBPS / BANK / LIC / SBI at 9:00 AM

4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

How many odd numbers are there which are immediately preceded by 

a perfect square? 

ऐसी कितनी किषम संख्याएँ हैं किनिे ठीि पहले एि परू्ण ि्ण ह ?

1. One 

2. Two 

3. Three 

4. Four 

5. More than four



IBPS / BANK / LIC / SBI at 9:00 AM

4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

Which of the following number will be seventh to the right 
of tenth number from the left? 

कनम्नकलकित में स ेिौन-सी सखं्या बायें से दसिीं सखं्या िे दायें स ेसातिीं 
हो्ी?

1. 1 

2. 5 

3. 3 

4. 6 

5. 7
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4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

If all the even numbers are dropped, which number will be ninth to the 
left of fifteenth number from the left? 

यकद सभी सम संख्याओ ंिो हटा कदया िाए, तो िौन सी संख्या बाई ंओर से पंद्रहिीं संख्या 
िे बाई ंओर नौिीं हो्ी?

1. 1

2. 3 

3. 5 

4. 7 

5. 9
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4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7

How many odd numbers are there which are immediately 
preceded by perfect cube and followed by perfect square? 

ऐसी कितनी किषम संख्याएँ हैं किनिे ठीि पहले परू्ण घन और बाद में परू्ण ि ण्
ह ?

1. None 

2. One 

3. Two 

4. Three 

5. Four
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How many such pairs of letters are there in the word 

‘PAGINATE’, each of which has as many letters between them 

in the word (both forward and backward direction) as they have 

between them in the English Alphabet? 

शब्द 'PAGINATE' में अक्षरों िे ऐसे कितने यगु्म हैं, किनमें से प्रत्येि िे बीच 

शब्द में (आ् ेऔर पीछे दोनों कदशाओ ंमें) उतने ही अक्षर हैं कितने उनिे बीच 

अगं्रेिी िर्णमाला में हैं?

1. One 2. Two 3. Three 4. Four 5. More than four
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1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यकद िेिल कनष्िषण I अनसुरर् िरता ह । 

2. यकद िेिल कनष्िषण II अनसुरर् िरता ह । 

3. यकद या तो कनष्िषण I या II अनसुरर् िरता ह । 

4. यकद न तो कनष्िषण I और न ही II अनसुरर् िरता ह । 

5. यकद कनष्िषण I और II दोनों अनसुरर् िरते हैं।
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Statement: 

B > E ≤ L ≤ O ≤ T < I 

Conclusion: 

I. E = T 

II. E < T 
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Statements: 

G < I ≥ U = P < H = J

Conclusions: 

I. G > P 

II. P > J
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Statements: 

K ≤ L = M < D ≤ T ≥ R > W = Q 

Conclusions:

I. D > W 

II. M < R 
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Statement: 

M > N < O ≤ P  ≥ R > Q = A

Conclusion: 

I. S ≥M 

II. S < M
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Statement: 

S ≥ R ≥ T = Q < M

Conclusions: 

I. M < R 

II. S ≥ Q
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In a certain code, GOAL is written as ODRJ. How is PLAN

written in that code?

एक निनित कूट भाषा में GOAL को ODRJ निखा जाता है। उसी कोड 

में PLAN को कैसे निखा जाता है?

(a) QDPS

(b) QDOS

(c) PCOS

(d) PDOS

(e) None of these
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In a certain code, BALL is written as 23 and CAN is written 

as 25. How is YELL written in that code?

एक निनित कूट भाषा में BALL को 23 निखा जाता है और CAN को 

25 निखा जाता है । उसी कोड में YELL को कैसे निखा जाता है?

(a) 81

(b) 49

(c) 73

(d) 100

( e) None of these
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In a certain code, COPY is written as 36 and ACT is written 

as 35. How is PEN written in that code?

एक निनित कूट भाषा में COPY को 36 निखा जाता है और ACT को 

35 निखा जाता है । उसी कोड में PEN को कैसे निखा जाता है?

(a) 21

(b) 24

(c) 25

(d) 23

( e) None of these
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If B is coded as 8, F is coded as 6, Q is coded as 4, D is coded as 7, T is 

coded as 2, M is coded as 3 and K is coded as 5, then what is the coded 

from of QKTBFM?

यकद B िो 8 िे रूप में िोकित किया िाता ह , F िो 6 िे रूप में िोकित किया िाता ह , Q िो 4 

िे रूप में िोकित किया िाता ह , D िो 7 िे रूप में िोकित किया िाता ह , T िो 2 िे रूप में 

िोकित किया िाता ह , M िो 3 िे रूप में िोकित किया िाता ह  और K िो 5 िे रूप में िोकित 

किया िाता ह , तो किस िोि से QKTBFM िोि किया िाए्ा? 

(a) 425783

(b) 452683

(c) 452783

(d) None of these

(e) CND
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In a certain code language, 

‘Commit also make policy’ is coded as ‘muu yoo laa gua’, 

‘policy craze anger mobile’ is coded as ‘kaa hoe jee yoo’, 

‘allow make course prize’ is coded as ‘gua nee bon sao’, 

‘craze manner also artist’ is coded as ‘the kaa guu laa’. 

The code ‘bon’ is stand for? / िूट 'bon' किसिे कलए ह ?

01. allow 02. make 03. course 04. prize 05. None of these
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In a certain code language, 

‘Commit also make policy’ is coded as ‘muu yoo laa gua’, 

‘policy craze anger mobile’ is coded as ‘kaa hoe jee yoo’, 

‘allow make course prize’ is coded as ‘gua nee bon sao’, 

‘craze manner also artist’ is coded as ‘the kaa guu laa’. 

The code ‘the laa kaa’ is for which of the following? /  िूट 'the la kaa' कनम्नकलकित 

में से किसिे कलए ह ?

1. manner also craze 02. also craze artist 03. course prize also 

04. Either option 01 or 02 05. None of these
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1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यकद िेिल कनष्िषण I अनसुरर् िरता ह । 

2. यकद िेिल कनष्िषण II अनसुरर् िरता ह । 

3. यकद या तो कनष्िषण I या II अनसुरर् िरता ह । 

4. यकद न तो कनष्िषण I और न ही II अनसुरर् िरता ह । 

5. यकद कनष्िषण I और II दोनों अनसुरर् िरते हैं।
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Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 

िथन: 

िुछ N, G हैं। 

सभी G, T हैं। 

कनष्िषण: 

I. सभी N िे T होने िी सभंािना ह ।

II. िुछ T, G हैं।
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Statements: 

Few N are G. 

All G are T. 

Conclusions: 

I. All N being T is a possibility. 

II. Some T are G. 
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Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.

िथन: 

िोई ि प स्टूल नहीं ह । 

िुछ स्टूल टेबल हैं। 

कनष्िषण: 

I. िुछ टेबल ि प नहीं हैं। 

II. सभी ि प िे टेबल होने िी 

सभंािना ह ।
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Statements: 

No cap is a stool. 

Few stools are tables. 

Conclusions: 

I. Some tables are not caps. 

II. All caps being tables is a 

possibility.
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Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.

िथन: 

िेिल िुछ घक़ियाँ इलकेरिि हैं

िोई घक़ियाँ ररं् नहीं हैं 

कनष्िषण: 

I. िुछ इलकेरिि ररं् हैं 

II. िुछ इलकेरिि िभी ररं् नहीं हो

सिते।
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Statements :

Only a few watches are electric 

No watches are ring 

Conclusions :

I. Some electric are ring

II. Some electric can never 

be ring.
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Statements: 

Only a few Hairs are White 

Only a few White are Sky 

Conclusions: 

I. All Hair are Sky 

II. Some Hairs are not Sky.

िथन: 

िेिल िुछ बाल सफेद हैं 

िेिल िुछ व्हाइट स्िाई हैं

कनष्िषण: 

I. सभी हयेर स्िाई हैं

II. िुछ हयेर स्िाई नहीं हैं.
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Statements: 

Only a few Hairs are White 

Only a few White are Sky 

Conclusions: 

I. All Hair are Sky 

II. Some Hairs are not Sky.
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Statements: 

All black are green. 

Only a few greens are good. 

Some good are bad. 

Conclusions: 

I. No black is good. 

II. No green is bad.

िथन: 

सभी ब्ल ि ग्रीन हैं. 

िेिल िुछ सा् अच्छे हैं। 

िुछ अच्छे बरेु हैं। 

कनष्िषण: 

िोई िाला अच्छा नहीं ह ।

िोई ग्रीन ब ि नहीं ह .
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Statements: 

All black are green. 

Only a few greens are good. 

Some good are bad. 

Conclusions: 

I. No black is good. 

II. No green is bad.
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There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.

सात व्यकि हैं - A, B, C, D, E, F और G । िे िुछ िस्तओु ंिो िरीदने िे 

कलए बािार िा रह ेहैं। िेिल तीन व्यकि D से पहले पह चंत ेहैं। E, F और G से 

पहले पह चंता ह  लेकिन F अकंतम व्यकि नहीं ह । G, F से पहले पह चंा। A, C से 

पहले पह चंता ह  लेकिन D िे बाद। C अकंतम व्यकि नहीं ह ।
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There are seven persons - A, B, C, D, E, F and G. They are going 

market to purchase some items. Only Three persons reach before 

D. E reach before F and G but F is not the last person. G reached 

before F. A reach before C but after D. C is not the last person.
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Eight friends – Alia, Bhanu, Charu, Deena, Eshan, 

Fatima, Gaurav and Hira purchased bungalows on same 

date of different years viz. 1988, 1993, 1995, 1996, 

2000, 2001, 2006 and 2009 but not necessarily in same 

order. They all have purchased their bungalows on 1st of 

June of their respective years.

(Note- For calculation of time period, please consider 

1st June 2018 as cut-off date.)

Bhanu purchased his bungalow immediately before 

Deena.

Only one person purchased his bungalow between Deena 

and Eshan, who purchased in a leap year.

Two people purchased bungalow between Fatima and 

Gaurav who purchased it 12 years ago.

Alia was neither the first nor the last person to buy a 

bungalow.

Eshan does not bought the bunglow before 1996.

आठ दोस्त - आकलया, भान,ु चारू, दीना, ईशान, फाकतमा, 

्ौरि और हीरा ने अल्-अल् िषों िी एि ही तारीि 

िो बं्ले िरीद।े 1988, 1993, 1995, 1996, 2000, 

2001, 2006 और 2009 लेकिन आिश्यि नहीं इसी क्रम 

में हो। इन सभी ने अपने-अपने साल िे 1 िनू िो अपने 

बं्ले िरीद ेहैं। (नोट- समयािकि िी ्र्ना िे कलए िृपया 

1 िनू 2018 िो िट-ऑफ कतकथ मानें।) 

भान ुने अपना बं्ला दीना से ठीि पहले िरीदा। दीना और 

ईशान िे बीच िेिल एि व्यकि ने अपना बं्ला िरीदा, 

किसने एि लीप िषण में िरीदा। बं्ला फाकतमा और ्ौरि 

िे बीच दो लो्ों ने िरीदा, किन्होंने इसे 12 साल पहले 

िरीदा था। आकलया बं्ला िरीदने िाली न तो पहली और 

न ही आकिरी शख्स थीं। ईशान ने 1996 से पहले बं्ला 

नहीं िरीदा ह ।
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Eight friends – Alia, Bhanu, Charu, Deena, Eshan, 

Fatima, Gaurav and Hira purchased bungalows on same 

date of different years viz. 1988, 1993, 1995, 1996, 

2000, 2001, 2006 and 2009 but not necessarily in same 

order. They all have purchased their bungalows on 1st of 

June of their respective years.

(Note- For calculation of time period, please consider 

1st June 2018 as cut-off date.)

Bhanu purchased his bungalow immediately before 

Deena.

Only one person purchased his bungalow between Deena 

and Eshan, who purchased in a leap year.

Two people purchased bungalow between Fatima and 

Gaurav who purchased it 12 years ago.

Alia was neither the first nor the last person to buy a 

bungalow.

Eshan does not bought the bunglow before 1996.
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A certain number of people are sitting in a row facing towards the north. X 
is sitting second from the right end of the row. Five persons are sitting 
between X and P. C is sitting immediate right of P. E is sitting third to the 
right of C. Seven persons are sitting to the left of E. A is sitting on one of 
the extreme ends but not sitting immediately right of X. T is sitting eighth 
to the right of A and immediately left of X. Y is sitting second to the right 
of T. Four persons are sitting between Y and R.

एि कनकित संख्या में व्यकि उत्तर िी ओर मिु िरिे एि पकंि में ब ठे हैं। X पकंि िे 
दायें छोर से दसूरे स्थान पर ब ठा ह । X और P िे बीच पाचं व्यकि ब ठे हैं। C, P िे
ठीि दायें ब ठा ह । E, C िे दायें से तीसरे स्थान पर ब ठा ह । E िे बायीं ओर सात 
व्यकि ब ठे हैं। A किसी एि अकंतम छोर पर ब ठा ह  लेकिन X िे तरंुत दायें नहीं ब ठा 
ह । T, A िे दायें से आठिें और X िे ठीि बायें ब ठा ह । Y, T िे दायें से दसूरे स्थान 
पर ब ठा ह । Y और R िे बीच चार व्यकि ब ठे हैं। 
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A certain number of people are sitting in a row facing towards the north. X 
is sitting second from the right end of the row. Five persons are sitting 
between X and P. C is sitting immediate right of P. E is sitting third to the 
right of C. Seven persons are sitting to the left of E. A is sitting on one of 
the extreme ends but not sitting immediately right of X. T is sitting eighth 
to the right of A and immediately left of X. Y is sitting second to the right 
of T. Four persons are sitting between Y and R.
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A, B, C, D, E, F, G and H are sitting around a circular 

area at equal distance from each other, but not 

necessarily in the same order. Four are facing the 

centre while four face outside (i.e., in a direction 

opposite to the centre). A sits ninth to the left of C. 

Only one person sits between A and H. B is facing 

outside. E sits eleventh to the right of H. E is not an 

immediate neighbour of A. G sits second to left of F. F 

is not an immediate neighbour of E. G is neither 

immediate neighbour of A nor C. Immediate 

neighbours of D, G as well as C face opposite 

directions (i.e. if one neighbour faces the centre than 

the other faces outside and vice-versa). G and E facing 

the same direction. C is not an immediate neighbour of 

H. A sits 2nd to the left of H . C is not an immediate 

neighbour of B .

A, B, C, D, E, F, G और H एि ितृ्तािार के्षत्र िे चारों 

ओर एि दसूरे से समान दरूी पर ब ठे हैं, लेकिन िरूरी नहीं कि 

इसी क्रम में हों। उनमें से 4 िा मिु िें द्र िी ओर ह  िबकि 4 

िा मिु बाहर िी ओर ह  (अथाणत िें द्र िे किपरीत कदशा में)। 

A, C िे बायें से नौिें स्थान पर ब ठा ह । A और H िे बीच 

िेिल एि व्यकि ब ठा ह । B िा मिु बाहर िी ओर ह । E, H 

िे दायें से ग्यारहिें स्थान पर ब ठा ह । E, A िा कनिटतम 

पिोसी नहीं ह । G, F िे बायें से दसूरे स्थान पर ब ठा ह । F, E 

िा कनिटतम पिोसी नहीं ह । G न तो A िा और न ही C िा 

कनिटतम पिोसी ह । D, G और C िे कनिटतम पिोसी ह  मिु 

किपरीत कदशाओ ंिी ओर ह  (अथाणत यकद एि प़िोसी िा मिु 

िें द्र िी ओर ह  तो दसूरे िा मिु बाहर िी ओर ह  और इसिे 

किपरीत)। G और E समान कदशा िी ओर उन्मिु हैं। C, H िा 

कनिटतम पिोसी नहीं ह . A, H िे बायें से दसूरे स्थान पर 

ब ठा ह । C, B िा कनिटतम पिोसी नहीं ह  
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A, B, C, D, E, F, G and H are sitting around a 

circular area at equal distance from each other, but 

not necessarily in the same order. Four are facing the 

centre while Four face outside (i.e., in a direction 

opposite to the centre). A sits ninth to the left of C. 

Only one person sits between A and H. B is facing 

outside. E sits eleventh to the right of H. E is not an 

immediate neighbour of A. G sits second to left of F. 

F is not an immediate neighbour of E. G is neither 

immediate neighbour of A nor C. Immediate 

neighbours of D, G as well as C face opposite 

directions (i.e. if one neighbour faces the centre than 

the other faces outside and vice-versa). G and E 

facing the same direction. C is not an immediate 

neighbour of H. A sits 2nd to the left of H . C is not 

an immediate neighbour of B .



IBPS / BANK / LIC / SBI at 9:00 AM

Seven person R, S, T, U, V, W and Z are going for 

movies at different timing 9:30, 10:10, 10:45, 11:05, 

12:30, 1:45 and 2:00, but not necessarily in the same 

order. Movies are schedule in seven different days from 

Monday to Sunday, but not necessarily in the same 

order. Only one person going for a movie between the 

one whose movie time is 1:45 and Z who is going for a 

movie at 10:10. V is not going for a movie at 1:45. The 

one whose movie time 10:45 going on Tuesday. R is 

going for a movie at 11:05 but not on Thursday and 

Friday. W is going for a movie on Sunday. S is going 

movie on Wednesday but not at 2:00 and 1:45. Only 

three people going for a movie between R and T. The 

one who is going the movie at 9:30 is after U but before 

the one who is going for a movie at 12:30. R is not 

going for a movie on Monday. 

सात व्यकि R, S, T, U, V, W और Z अल्-अल् समय 

9:30, 10:10, 10:45, 11:05, 12:30, 1:45 और 2:00 पर मिूी 

दिेने िा रह ेहैं। लेकिन िरूरी नहीं कि इसी क्रम में हो। सोमिार से

रकििार ति सात अल्-अल् कदनों में कफल्में शेि्यलू िी िाती हैं, 

लेकिन िरूरी नहीं कि इसी क्रम में हों। किस व्यकि िी मिूी िा 

समय 1:45 ह  और Z िो 10:10 पर मिूी दिेने िा रहा ह , िे बीच 

िेिल एि व्यकि मिूी दिेने िाता ह । V 1:45 बिे मिूी दिेने नहीं

िाता ह । किसिी कफल्म िा समय मं्लिार िो 10:45 चल रहा ह । 

R 11:05 पर मिूी दिेने िाता ह  लेकिन ्रुुिार और शकु्रिार िो 

नहीं। W रकििार िो मिूी दिेने िा रहा ह । S बिुिार िो मिूी िा 

रहा ह  लेकिन 2:00 और 1:45 पर नहीं। R और T िे बीच िेिल 

तीन व्यकि मिूी दिेने िाते हैं। िह व्यकि िो 9:30 बिे मिूी दिेने 

िाता ह , U िे बाद लेकिन 12:30 बिे मिूी दिेने िाने िाले व्यकि

से पहले ह । R सोमिार िो कफल्म दिेने नहीं िाता ह ।



IBPS / BANK / LIC / SBI at 9:00 AM

Seven person R, S, T, U, V, W and Z are going for 

movies at different timing 9:30, 10:10, 10:45, 11:05, 

12:30, 1:45 and 2:00, but not necessarily in the same 

order. Movies are schedule in seven different days from 

Monday to Sunday, but not necessarily in the same 

order. Only one person going for a movie between the 

one whose movie time is 1:45 and Z who is going for a 

movie at 10:10. V is not going for a movie at 1:45. The 

one whose movie time 10:45 going on Tuesday. R is 

going for a movie at 11:05 but not on Thursday and 

Friday. W is going for a movie on Sunday. S is going 

movie on Wednesday but not at 2:00 and 1:45. Only 

three people going for a movie between R and T. The 

one who is going the movie at 9:30 is after U but before 

the one who is going for a movie at 12:30. R is not 

going for a movie on Monday. 



IBPS / BANK / LIC / SBI at 9:00 AM

There are 10 members in the family who are sitting at some distance from 

each other in a park. N is 4 m in the west of M, who is 5 m in the north of O. 

Q is 12 m in the west of R. T is 3 m in the west of S, which is 12 m in the 

south of R. O is 6 m in the east of V, which is 2 m in the north of P, which is 

8 m in the west of U. T is 1 m in the south of U. 

पररिार में 10 सदस्य हैं िो एि पािण  में एि दसूरे से िुछ दरूी पर ब ठे हैं। N, M िे पकिम में 4 मीटर

ह , िो O िे उत्तर में 5 मीटर ह । Q, R िे पकिम में 12 मीटर ह । T, S िे पकिम में 3 मीटर ह , िो R िे

दकक्षर् में 12 मीटर ह । O, V िे पिूण में 6 मीटर ह , िो P िे उत्तर में 2 मीटर ह , िो U िे पकिम में 8 

मीटर ह । T, U िे दकक्षर् में 1 मीटर ह ।

In which direction is U with respect to M? /M िे सन्दभण में U किस कदशा में ह ?

1. North 2. East 3. South-East 4. North-West 5. None of these



IBPS / BANK / LIC / SBI at 9:00 AM

There are 10 members in the family who are sitting at some distance from each 

other in a park. N is 4 m in the west of M, who is 5 m in the north of O. Q is 12 m 

in the west of R. T is 3 m in the west of S, which is 12 m in the south of R. O is 6 

m in the east of V, which is 2 m in the north of P, which is 8 m in the west of U. 

T is 1 m in the south of U. 


